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Instructions for the candidates :

1. Candidate must enter his / her
Question Booklet Serial No.
(10 Digits) in the OMR Answer

Sheet.
2. Candidates are required to give their
answers in their own words as far

as practicable.

3. 3. Figures in the right hand margin
fAffee &vd &1 indicate full marks.

4. wvl F EZWFQ'W ‘?8:? # [T 4. 15 minutes of extra time have been
getenferal &1 15 e @1 fkded T allotted for the candidates to read
fear T 81 the questions carefully.

5 g8 MHIT 5‘7%37 gl @vel 4 & — 5 This question booklet is divided into
HUI-I Ud TUS-F/ two sections — Sectlon-A and

Section-B.
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#qvg-51 & 70 FEfre W ¢, i 6.

& fet 35 gy ar A€ AN
Afvard &1 35 e @ sifuF FIH
e’}‘??mssas?a?awfﬁﬁm
Fel% @ forg 1 of Frffia 81§
W 37 F fo 3yciey Fed T OMR
IW-73% o fo qu @@ fHET @
At / Fet ater o @ FIE FW
ﬁ’ﬂ?iﬁma-m/a?ﬁ
WY / &g / ArgT T FT OMR

In Section-A, there

70 objective type questions, out of
which any 35 ques'tions are to
answered. If more than 35 quesy;
are answered, then only first 35 wi
be ovaluated. Each question Ca"'ies
1 mark. Darken the circle with

/ plack pall pen against the COrreqy
option  on OMR Answer Sheer
provided to you. Do not
whitener / liquid / blade / nayy
on OMR Answer she“'
result will be

etc.
otherwise the

invalid.

In Section - B, there are 20 shor

answer type questions, each

carrying 2 marks, out of which any
10 questions are to be answereq
Apart from this, there are 6 long
answer type questions, eqch
carrying 5 marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.

I uIF ® yglm @sew & 8
= =T QYIAT gfRvmT SmT=g g
g
;é 7. @UE - FH 20y I AVAE |
2 geF & fow 2 o Fraifte &, frd
> & =l 10 wyAl &7 FAT I
5. sfrard & | @9 Hfofe 3w @ 7
Z 6 3 FwtT Wy @ ma & 9EE F
& fow 5 siw Frifta & ford @ Rl
§ 3 gyt @1 IA¢ 37 AfHard &1
8. [rql ¥#R @ FoiaiHe ITHU F sl.
s quferar afFa & |
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TS - A / SECTION - A

Question Nos. ] to
70 have four options, out of which only one is

_ correct. You have t
Ooptio i
Ption, on the OMR-Sheet. Answer any 35 questi

mark your selecteq

. . . 35x1=235
1. AEd o (Tﬁ?;]'[ 1) ¥ . ons
UTHH & fomm Fryffag & FH T Y
(A)  p=Hethy |
2 B Rk

B n==t3

(C) - K

= D) = %
Which of . .
of the following is correct for refractive index of mean colour ( yellow
colour ) ?
H, +u
A = I v -
A a 2 (B) B= L) 2““
1-1 -
C = H
€ w==3 D) p=tL
2. EHIMR HE oI H 1 9g 9 i e ¥

(A) N B) I

(C) 100 cm (D) 10 cm

Power of parallel sided glass-slab is

(A) infinity BT zero

(C) 100 cm (D) 10 cm

3 Pig Fui-faeiqur ST g 8

wod Apnysqasq mmm//:sdny

(A (n, —H,)A B (k- k)
(C) (IJ-U + lvl,.-) (D) [P'u fur]A
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Angular dispersion is equal 10
(A)  (m, -n,)A

lB' {}1; - Hr]

D) (, * A

{Cl “’l';. + ur ) .
aﬁﬁugwﬂ%%mﬁﬂhﬁaﬁﬁhaﬁ%?
A f,= B fo>/e
o Je
C)  f, <f D) fo<<Se
o [ 4 - ,
Which of the following is correct for Astronomical telescope
>
(A) fo=1. ,_)Bj fo fe
€ f, < D) fo<</e
o e
T H e, & HH gaT €
(4) 4 B F
9
(€ 1 (D) 9x10
The value of €, in air is
(A)  zero [LB‘)/ infinity
< 1 o) 9x10°

ﬁwmhﬂq5aﬁ&amwmﬁwhmmmﬁﬂﬂﬁﬁmﬁ

(A qE m 2

© 2 D) JeE

The value of force acting on a charged particle in electric field is
(A) qE _ (B) %
© Z D)  JaE

https://www .bsebstudy.com
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fo9 9 A 31 B & da auge wikan &

 C C

4 1 { — B
(A) C &
B 3
bl » 2
(C) 2C D =
Equivalent capacity between A and B in figure is

C

T — B
_ C
A C )
2
(C) 2C D =
(D) C

G2 @ HfeREAT & fou Frsfefea § @ G@ § 2

A ps B  p=ng

RA
L
RL _
A (D) p=RLA

Which of the following is correct for resistivity of a material ?

(A) p= -‘ti—A (B) p= %

€ p=5 (D) p=RLA
fenya-srauTer SRR gt &

(A) g—f, (B) dx.dV

() % (D) ¥ ¥ HIE TR

https://www.bsebstudy.com
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Potential gradient is equal to

wod Apnysqasq mmm//:sdny

: Vv
(A) dx (13) dx. d
dv
dVv (D)  Non¢ of these
(C) e
10. foga doima @1 s, A @
Reiray
(A)  HH-Hiw (B) i
) !
(€) aee-mey (D) (@ )(
S.1. unit of electric flux is
(A)  ohm. metre (B)  umpere.metre
Gl
g (C)  volt-mctre (D) (volt) (metre)
=
: ' | i gva @ & ?
;: 1. Y Q-ne 4 Fr=afefaa d &9 n &1 AF !
;?; < 42 (D) 100
o 0 ]
Z Which of the following values of n is not possible in rclation Q=ne ?
=
8
& A 4 B)
= . . |
12, U SR dige GuiRE @ uiiar & fog Frafaled § @9 98 8 2
€ A ' €, d
A =3 ® -2
d A
(C) (D)
€0 A €, d
Which of the following is correct for the capacity of a parallel plate capacitor ?
€y A €, d
(A) 3 (B) 1
d A
c D
(C) €, A (D) e d
[117]C (A]-9001-C(33; Page 6 of 28
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fugget Ul bl wifes @R @

2
A V. R (B) V°.R
v 2
(©) 3 (D) ve.R.I.

power of clectrie circuit is

A V.R B) VZ.R
©) -5— (D) VZ.R.I.
urfrdia wicard gen &

w B

€ w.e O e

w c

A = B
. .
€ w.c 15) B

el & Wi w9 § FEtated 8 e afv  9E T e ?
TVERELCIGE (B) X
© fawEiR R 4Ry A D) T H HIR TR

Which of the following is the same in parallel connection of resistances ?
(A) Potential difference

(B) Current

(C) Both Potential difference and current

(D) None of these

wod Apnysqasq mmm//:sdny
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lo. UF ¥ SIS T @

(B’ l{)h II’lH
(A) 103 mH o o 6t
() 10 *mH
One henry is equal to 5 00 mH
(A) 10°mH .
(D) 10 *mH
() 10 °mH
: g7
17 Yfednfies aw & oy Frtatad A FH &l
1
S B Ta=x
A 1. = 576931 |
T =—5
= (C) T,=(0-6931)A (D) a 52
g . ﬁti\!e‘clcment ?
‘;: Which of the following is correct for radioac
: 1
: A B Ta=3
= A
§— A T, = 576931
& s oL
-4 (C) T, =(0-6931)x (D) a =32
o
(o
P 18, Frefetfiga o @1 @ § 2
Q
= 12
E (A)  (1100), =(12))0 (B)  (1001)y = (12)i0
(C)  (1111); =(12)9 (D)  (1011); =(12)ho
Which of the following is correct ?
(A) (1100); =(12ho (B) (1001), = (12)y9
(C)  (1111) =(12) (D)  (1011), =(12)
19. T e & forg FreAfafad § #1F w6tE 2
(A) AND, OR, NOT (B) AND, OR
(C) NAND, NOR (D) OR, NOT
[117 ] C [(A)-9001-C3) Page 8 of 28
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wWhich of the lollowing is correct for fundamental gate ?

wod Apnysqasq mmm//:sdny

(A AND. OR, NOT (B) AND, OR
(C) NAND, NOR (D) OR, NOT
o A e siefer 9 &
(A} HIETH B o-F
©) 3T (D)  FeAEHEH
which of the following is not charged ?
(A) Photon (B) « -particle
(C) 3 -particle (D) electron
51, e 1A 6T T-rg A dien {1 &1 | @l €
(A) 1 (B) )
< 3 (D) 4
The value of yellow colour in colour code of carbon resistance is
(A) 1 [B) 2
c) 3 (D) 4
g, ATEETHIZY HIYET @
(A) "y B) fawa=R
©) 4/ (D) T G HrE T
Voltameter measurces
(A) resistance (B) potential difference
(C) currcent (D) none of these
(117 ] C |(A)-9001-C33) Page 9 of 28
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23. | _sromeae
dn €5 )
9NmZc’
(A) 9 x10°Nm?2c? @ 910 2o ?
. m2c
(€) 9x10'"?Nm?c? o) 9x1°
The value of is
41’1'60
-9 2 -2
(A) 9 x 10°Nm?2c? (B) 9 x 107" Nm~c

12 N 2 2
(€) 9x10"”Nm?c? (D) 9x107'*Nm7c

24, fyfeifga d 9 devy @@t € ?

wod Apnysqasq mmm//:sdny

-y - -
&) E =% B) E=qF
- i 1 49
(© E-.;—. A T
Which of the following relations is correct ?
- - -
a) E=L£ (B) E=qF
q
C E=— D E=
(C) }' (D) 4n €, }‘2
25. foga-fava SR @t @
q ' w
@w 2 B
€ wg D) Juq
Electric-potential is equal to
q w
@ 1 G-
(C) wg D) Jug
[117 ] C [(A)-9001-Cg3) Page 10 of 28
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(A) cm (B) cm?

(€) cm'! (D) cm™?

§.1. unit of electric dipole moment is

(A) cm (B) cm?

(C) cm"’} D) cm-2
g7, T S (F) SR g &

(€ 1cv2 D) 1cv?

Onc farad is equal to

(A} 1CV B 1cv!

(€) 1Ccv— o 1cv?
08. TART e Y Rufirsy oot et 3

(A)  Cv? (B) 3CV?

L oy2 - )

€ Scv _ (D) L CVv?

Potential energy of a charged conductor is

(A) CV? (B) 3 CV?

1 ay2 1oy

© tcv | o lcv
20. werrel-Y frw sifae wfer &1 o 2

TV B) WHg

© e | (D)  WRTT Y st
[117 ] C |(A)-9001-C3)| - Page 11 of 28
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s )
The unit of which physical quantity 18 light year

Time
\(}l/ Distance (B) 1

(C)  Encrgy (D)  Intensity of lighl'
30. U @il genevl @ S gan wfdtew g €

(A} Freates SR (B) @A SR 3T

(C) IrleR SR (D) At R I

The imagc formed by simple microscope is

ctiral inverted
(A) Virtual and erect (B) Virtual and nver

\jz{ Real and crect (D) Real and inverted

31. Wﬁﬁmﬁmﬁmﬁaﬁmmqﬁzmgmm%?

wod Apnisqasq mmm//:sdny

a) Frere-gea - (B)

(C)  SRI-gIErerar (D)

-gfted
sfagend

: ?
Which of the following eye defects is removed by convex lens -

(A)  Nearsightedness (B)  Farsightedness
(C)  Presbyopia (D)  Astigmatism
32,  got-faetyor emar & fog Fyefofea § @A 9 @8 2
(AJ w= Ky __";r (B] w:(p‘v—ur}(py_])
Hy
p, -1 _
©  w=r= (D) w=ELu3
p‘y - “F’ uy —

117 ] C [(A)-9001-C33)
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which of the following relations is correct for dispersive power ?

- “‘p - “‘r

@& My, =1 B)  w=(n, - w1
poo—1 .
Yy Wy By
C w= D w=———e

frafd T ST T AT o ¥ 1 HE (o= 3/2) F TR AR G

3 v
N ® %
4 "
I D 5
velocity of light in vacuum is c. Its value in glass (p= 3/2) will be
= 3c 2c
S A B T
= 4c
: © 3 @ 3
£
g, w5 e wiela qredie w) e e
& .
o
= A S-S B  f,xf.
&
B I}
Q [¢]
o] — D +f
E (C] .fe ( ) fo e
The length of an astronomical telescope for normal adjustment is
A Jo—Je B)  foxSe
(C) % D) fo+fe
5. ﬁwwﬁﬁ%aﬁ@éﬁﬁuﬁqﬁw@mﬂnaﬁ%
&) 1 mm (B) 2cm
1or” 25 cm D) 1m
117]C |(A)-9001-C33) Page 13 of 28
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Focal length of eye-lens of a healthy man 18 about
(A) 1 mm (B) 2cm

(C) 25 cm . (D) 1 m

A . 2
36. yxmu-mﬁmfaiiaﬁﬁaﬁahﬁﬁﬁaﬂmg*?

A A-4_ 4 A Asdy !
(A) X — Y + He (B) X— Y+ He
Z z=-2 2 Z z+2
A A+d 4 A A+4
(C) X — Y + He (D) X— Y+ He
Z z-2 2 Z are
_ A
Which of the following represents the a -decay of p X ?
A Ay A-4 4 Ay Aty * He
, ——
(A) P S 3‘2‘{ + EHC‘ (B) 7 42 2
A A+4 a A Ard !
c “x—s vy THe o) x—— YL He
z -2 2 z “+2

37,  Fafafaa & #4 ifee &0 7@ 8 ?

(A) g™ (B) "R

(C)  a-0T (D) FeTRz

wod Apnisqasq mmm//:sdny

Which of the following is not a fundamental particle ?

(A) Neutron (B)  Proton

(C) « -particle (D)  Electron
38, TV SART % foru Ereifefaa § @9 agha-wE € 2

(B) 30-300 kHz
(D)  30-300 GHz

(A) 30-300 Hz

(C)  30-300 MHz
e frequency range for TV broadcasting ?

(B) 30-300 kHz
(D)  30-300 GHz

Which of the following is th
(A) 30-300 Hz
(C) 30-300 MHz

[117]C “AJ-QOOI-C@ Page 14 of 28
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39 WU A & fom frtferfen b @ ae w2

-

(A) ELSiG o] (B) 37T

(C)  ufrg R i

Which of the l'ollowing units i1s correct to measure attenuation ?
(A) dccibel (B) ohm

(C) ampere (D) volt

40. TF pUER HE-9IFF g g

(A) T

(B) HUTATIH
(€] et

(D) T\ Y A9 W AAEPE dAfer 399 a9EE W) TaieE

A p-type semiconductor is
(A) positively charged
(B) ncgatively charged
(C) uncharged
| (D) unchargc;:l at absolute zero temperature but charged at higher

temperatures  https://www.bsebstudy.com

41, EEGISH GOI] H 32 I gAaH el HIvig Fem g §

h

(A A B 3
h h
(SR D) 3

The minimum orbital angular momentum of an electron in a hydrogen atom is

h

(A} h ® 3

A o R

(€) 2n (D) A

[ 117 ] C |(A)-9001-Caa)| - Page 15 of 28
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42, XA H9FSA TIEV] H WarwA Al &

A3 By 4
(C) > (D) 6
Donor impurity atom has valency

(A) 3 B 4
(C) S (D) 6

~

43, fad onam &1 e wrEREd (€, ) 861§

(A) f‘ (B) ex€g
0
(<) E+E, (D) €-€p

The rclative permittivity ( €, ) of a medium is

(A) E—E— (B) EXEg
0
(C) e+g, (D) €-%

44, UF fF%g mﬁwqﬁrgﬁwhqa-%ﬂawmﬁm%

wod Apnisqasq mmm//:sdny

1 q
1 4q (B) —
(A) dney ' r an €y r?
1 9
q-r (D) S
(C’ 411_ EO 47[ Eo r

. : i
The value of electric potential at a distance r from a point charge g1

1 q
14 -
(A) 4n €, T (8) 4rey r?
2
14
.r D A
(C) 4390 D) Zze, T

wod Apnysqasq mmm//:sdny
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A A 3wy : S
A F4q x T QAo g oI
Fed HIARHA
T W
(C) —_———— .
P AP (D) FA AN x FA HGAA
Surface density of charge is equal to
(A} Total charge x Total area (B) Tg::]alchargc
arca
Total Charge
(C) Total volume (D) Total charge x Total volume
=
E ar1 1 R Reiw gien &
é (A) 80 (B) 60
§_ (€ 1 (D) 425
o
a The diclectric constant of water is
o
CE::. (A) 80 (B) 60
<
o €1 : \pm/ 42'5
S
3 R fa=an =t gt ) faeg-wiftan @t &
R
4 R
(A) 94n €, (B) T &g
4n € 2
(C) R (D) 4ney.R
Elcectrical capacitance of earth of radius Ris
wef R (B) 4ney R
4n €
R
17 ] C [(A)-9001-Cp3 Page 17 of 28
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a8.
] 1:(4111 (B) lﬁq x 1
(A) N
| Yehvg
| 3H
. ., D —_—
©) 1 dlee « 1 3 (D) | @
One ampere is equal 1o
A I coulomb (B) 1 coulomb *1 second
(A) ] scecond
1 ohm
(C) I volt x 1 ohm (D) TGBTF
49, fagd algch 91 &) TS @
(A) g B) 1T
) A (D) T fey R
Unit of cletromotive force is
(A) newton (B) joule
(C) volt (D) newton/ampere
50. eiawiii & feu famfafaa § i qEr e ?
(A) ¥ A.C. I D.C.H T g
(B)  T& D.C. I A.C. H F&wH €
(©) T& D.C. drd F| T a1 B &
(D) & A.C.Heedl F agTaT a1 BT ¢
Which of the following is correct for transformer ?
(A) It converts A.C. into D.C.
(B) It converts D.C. into A.C.
(C) It increases or decrcases D.C. voltage
(D) I{ increases or decreases A.C. voltage
[ 117 ] C HAJ—QOOI-C(S.%J Page 18 of 28
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q:.-q'dn-'-l U9 WEe &1 1 vy @
].

) N N
(A (B) A.m
. A.m A.m
(€) o) =
g 1. unit of magnetic pole strength is
N N
A —
A (B) A.m
. A.m Am
(C) (D) q
lﬁa?aﬁmtjaquafmaﬂmﬁm%
-V (B)  90°
) 45° (D)  180°

The value of angle of dip at magnetic pole of the carth is

@Ay 07 (B)  90°
()  45° (D)  180°
frater @1 Ik Hgf 1 74 & &
(A) 05 % SR (B) A=
€ 1% TR (D) ¥
The value of magnetic susceptibility of vacuum is
(A) equal to 0-5 (B) infinite
(D) Zero

(C) cqual to one

qmﬁﬂm(u)imﬁm%ﬁaaﬁﬁqmuﬁ%?

wod Apnysqasq mmm//:sdny

B
W n=g B k=g
€ u=B.H (D) w=(B+H)
7]C |(A)-9001-C33) Page 19 of 28
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relations s corree

Which of the following 5
H m H*°H
(A e
(D) p=(B+ H)

©)  p=l.H
55. pamly quakR N e gl |4 B,
_ \ { PRGN
B &1 3qU UTH B, @ A fyafafga 8 & AR

(B) B, = Bcosbd

(A} B, - Beosd

(C) B,, = Bsind (D) B, = By, 8inod

If B is carth's magnetic field in magnctic meridian, 0 1

‘ - X : -nt of
horizontal component of B and By 18 vertical componcn

the following relations is correct ?
(A) B, = Bcosd B) B, =Bcos?

(C) By, = Bsind (D) By =Bysin?®

56. forE-RIRd wi & W @) R e @

A) B ¥ §ERR B) B % WAK

© (B x E )% TH® (D) (E x B) % GHR

The dircction of propagation of electromagnetic wave is

- -
(A) parallel to E (B) parallel to B
- - -2 =2
(C) parallelto( B x E ) (D) parallel to (E x B)
117 ] C |(A)-9001-C(33 Page 20 of 28
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s anglc of dip, By

f;‘ , then whi%
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N frrafeliee 3 fsa sifiras wfr &1 RO S 1 AT Al ¥ 7

IR B)  drE
() TR S

(D)

interference of light is the redistribution of which of the following physical
quanlitios )

wod Apnysqasq mmm//:sdny

(A) F"Cqucncy (B) Intensity

(€) Wavelength (D) Speed
58. HIET T | '“""W}?{%’Fﬂ%

A)  H (B) I

(C) 91 x10 ke D) 16 x 10 kg

The rest mass of photon is

(A} zcro (B) infinite

(C) 91 x10 3 q (D) 16x10%kg
59. R 1 G v gy @

(A) E -E, = é—hv (B) E -E,=hv

D _3
(C)  E,-E, =3hv D) B -E,=3hv
Bohr's frequency condition is
1
(A) E,-E, = Ehv (B) E,-E, =hv
) — ) = 3

(C)  E,-E,=3hv D)  E -E,=3hy
60. TR FHeAl HT HI &Il @

(A) ARl fa@uea B) TEREH® tfufw

(C) T wuit &1 faeim (D) AR erad
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The source of solar encrgy 18

(A) nuclear fission
(B) chemical reaction
articles
(C) annihilation of clementary particies
(D) nuclear fusion
: 7
61. ﬁ"ﬂﬁaﬂwﬁawwﬁrﬁf@ﬁﬁaﬁ”% -
(A) B (B)
(C) | (D) ST
- - ?
Which of the following is the best conductor of electricity
(A) Silver (B) ‘Copper
(D) Zinc

(C) Gold

62. NOR-§R& 1 Jferad sish gral &

(A) A+B=Y (B) A.B=

(D) A+B=Y
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(C) A.B=Y
Boolcan cxpression for NOR gate is

(A) A+B=Y B) A.B=Y

(C) A.B=Y \jm/ A+B=Y

63. fr-amurd GET (1001), F FUHE HEA €Al ©

(A) (12)10 B)  (18ho
©  ©ho e @5ho
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rhe decimal number of binary number (1001), is

12
Al 2ho B)  (8ho

. 9
€ Gho (D) (250

[ FFF TF YR | maw & RO R ufarly & areiss H 3609 SO el ©

{A) I. R 1 (B) I.R2. 1t

C) 12 . R ¢ (D) 12 R2.t

The heat produced in a conductor of resistance R due to flow of current [ for
time 118

(Al 1. R 1 (B) !.RQ.!
) 17 .R1 D) 12.R%.1

5 tesla (SHET) T Jaerg &5 aw@r & &

-

_ Fax . ER
(A} Sx =/ 107 —
(tex)? B >0 afey?
> éa? s - n
@2 ey (D) 5102 FR (A
a1 )=

Magnetic field of 5 tesla is equal to

(A) 5 x weber (B) 5 x 10° webct‘z
Emetre)2 (metre)
) 5x10% eber D) 5 x 102 weber x (metre)”
(metre)

JeTEE U W7 rms. T (1) $R SEr a1 e " (L) F A

A 1, =0505I ® I, =0606l
(C) 1., =07071 (D) I . =0808I,
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The relation between r.m.s. value of alternaling current I )a
of alternating current (Iy) 18

(A I, s =0505], B lrms = 0606/
€ L, =07071 D) s = 08080

67. Wﬂﬁﬁmaﬁmﬁﬁm

R s aR aa ¢
] B w.L
(A) T (B)
L
L D =
(C) = { ”

offered by an inductor of inductanc¢ L

Inductive reactance
www . bsebstudy.com

angular frequency o 1S https:/

(A) % B oL
(C) EII (D) f’;
68. %W%Wﬁm&f@ﬂﬁaﬁqmﬂﬂ??
n n&sw=mmmﬁnmﬁwwﬁﬁ
| s A A6
B1 T T g 2
e W A

© i T = s e i

(D) i O = 3
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fuc aIJcr
48C pow
8¢ power x Apparent average powcr

(B) Power factor = APPﬂren! average pow
cr

fuc average power

(C) Power factor « __True average power

(D) Power factor = |
2| True aver age power x Apparcnt average power |

69 e *“ﬁ%mmmg
Al 3 '
B) 4

S
(C) D) 6

Value of green coloyr code on carbon resistance is

(A) 3 (B) 4
5 - - . . H
;0. TEEEET B H v A nfaviier s ( q) W o At A w1 A §

- - = =5 e I 4

(A F,=q(VxB) BT F,=q(BxV)

> (B xV) +  (VxB)

’ 4
[C) f‘:"':-(_;_l. [D) Fm::

—» y
. . . ; tic field
Expression of force on a charge q moving with velocity V in a magncuc

-2
B is
=» = = F = {_B) x-l.;]
(A) Fm=q(VXB] (B) m =4
- =
€ Fu= (qu l S
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qus - ¥ / SECTION” B ons
tion
wmm;shonMiwchypﬂQu:; ! . " frw 2 ,
m#w:#zoagawﬁﬂ?iﬁ"#m * 10 X2 =2
yffea # : . ns. Each qu€stio
. o 10 quesnor
r Type. Answer 4y j0x2=2

Question Nos. 1 to 20 are Short Answe

carries 2 marks :

. - '|

1. gamt sgfatur & gl HEvEE it &1 ford

) .. . o interferencc.
Write two essential conditions of construchive int

2. #aaﬂyﬁ'mmmﬁmwwaﬁ?

commaodation of cye ?

What do you mcan by power of ac
3. IEUEE @ A ¥ FHEd € 2

What do you mean by semiconductor ?

4. fgdigs sEue ® gEFd |

Explain sccondary rainbow.
5. am-aEd e w e

Write Biot-Savart's law.
6. fomm 3R i wHAD |
Explain electrical resonance.
ﬁﬂﬂ@ﬂ?ﬂ%&ﬂmqﬂﬁmﬁmwmg ?
What do you mean by apparcnt angle of dip at any place ?
8. & & Faw ferd

Write Brewster's law.

0.  gigwnR ¥ dm-ar w9 |
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Explain copper-loss in a transformer.
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14

16,

17.

18.

19.
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I ) e
Explain solar cell.

W%'UWQWW'WT—H?

What do You mean by capacity of a conductor ?

AN F U ey @ oo # T S| HEAF Fl ford |
Defhine volume dcl‘lsily of charge. Write its S.1. unit.

U T T o v F) i 3

Define electric flux gn a surface.
TAHA v 2 oy 3,
Define magnetic potential
UEHTI F o HAF W & fou sravas oGt &1 o
W
T SN F A e ¥ o ‘
What do you mean by Paschen series ?
NAND-& &I ¥03 |

Explain NAND-gate.

g Higes # wwem |

Explain frequency modulation.

aret (3 Tt & < it ferd

Write two properties of beta ( ) rays.

A ‘ A
n-hN & A hl uA | >

Explain n-type of semiconductor.

rite niccessary conditions for total internal reflection of light.
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. tions
e Iwg WYT / Long Answer Type Ques F | gAF # frg

& AT
mmz:#zsaﬁm&rméfﬁ#ﬂ?Sw 3x5=15
5 & fFruifea I‘? . Answer any 3 quc_.,-gfgnS. Each
Question Nos. 21 to 26 are Long Answer Type Questions. Al ) 3%x5=1§
l'.ﬂ{(fstfnn carries 5 murks :

Co . . . 5
21. U 79 % feu T fean gan g3 wafaa S
1. 1
yowel (R R_,}
Establish the formula for thin lens given below
1
=(-1} | — - —
" } ! [Rl RJ]
22, YW YenERil &) e wmen & fou o und & S
Find out the expression for magnifying power of compound microscope.
23 3R Byda-foya & wrw v fag W e fava % w@wE i w0 5

IZstablish the expression for eleetric potential at a point duc to a small clectric
dipole. https://www.bsebstudy.com

TITIA YT & A % fou ot 5 a6

%

Find out an expression for root mean square value of an alternating current,
25. Wﬁ,ﬂﬁmﬁaﬁﬁﬁﬁgmﬁumﬁ%qﬁaﬁfw@ 4?’
‘Writc propcerties of diamagnetic, paramagnetic and ferromagnetic materials.
% o Fres g (v vy ) i

What do you mean by half-

26.

S

life and average life of a radj
Establish disintegration for
mula (N= N, = ' ]
o ) for radioactive subst
ance,
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